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QUESTION 1
The Time Target (s) control is set for 10 seconds.

Which VI will collect all the data into a 1D array to be processed later?
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 2
The SubVI is opened and then run three times.

What is the value of Sum when the VI completes execution?

A. Indeterminate
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D. 10

Correct Answer: B

QUESTION 3

What is one disadvantage of using the State Machine VI architecture?

A. A State Machine can only traverse states in order

B. If two state changes occur at the same time, only the first state change will be handled and the second will be lost
C. The diagram becomes significantly larger when changing from a general architecture to a State Machine

D. State Machines cannot acquire data or use DAQ functions

Correct Answer: B

QUESTION 4

You develop a SubVI that only outputs a value and need to use this SubVI in a (calling) VI. Which of the following is the
best way to enforce dataflow to control the execution of the SubVI?

A. Use the SubVI in a Sequence structure

B. Modify the SubVI to have dummy inputs that can be used from the calling VI
C. Modify the SubVI to have Error clusters that can be used from the calling VI
D. Modify the SubVI to have a global variable and use it from the calling VI

Correct Answer: C

QUESTION 5

Which of the following describes a Tab Control?

A. A control that outputs ASCII values equal to the selected tab label

B. A type of enumerated control

C. A control that outputs a cluster of the controls / indicators on the tabs
D. A controls that outputs the tab order of the controls on the front panel

Correct Answer: B
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